### BID SHEET

## EAST BRUNSWICK PUBLIC SCHOOLS

## STUDENT PUPIL TRANSPORTATION SERVICES SCHOOL RELATED ACTIVITY

The undersigned hereby submits the following bid(s) to transport pupils on dates provided in accordance with your advertisement, specifications, and route description. If awarded the contract, we agree to be bound to this proposal and the contract documents, as defined in the specifications:

Date	Number of Buses Required	Number of Buses Contractor Will Guarantee	Cost per Bus	Total Cost Per Day
April 24, 2023	5	5	\$1754.50 *	\$8772.50
April 25, 2023	12773	5	\$1754.50 *	\$8772.50
May 1, 2023	5.	5	\$1754.50 *	\$8772.50
May 2, 2023	5	5	\$ 2414.50*	\$12072.50
May 3, 2023	<b>35.</b> 5. 5. 5. 5. 5. 5. 5. 5. 5. 5. 5. 5. 5.	5	\$1754.50 *	\$8772.50
			Grand Total All Buses:	\$47,162.50

Cancellation Due to Non-Covid Reason	100
# of Days' Notice Required for Full Refund/No Penalty  3 Days	
Penalty for Cancellation due to Non-Covid Reason with notice given less than the # of days noted above	

\*includes fuel surcharge

In the event that the East Brunswick Public Schools is unable to attend the field trips to the Fairview Lakes YMCA due to the COVID-19 pandemic, the East Brunswick Public School shall so notify the Transportation Provider in writing not later than 10 calendar days prior to the date transportation is required. Within 30 days of such notification, the Transportation Provider shall return to the East Brunswick Public Schools any and all payments made by the East Brunswick Public Schools. Thereafter, neither the East Brunswick Public Schools nor the Transportation Provider shall have any further liability under this Agreement.

Alfonso	Freda		
Authorized	Bidder's Name	(Print or	Type)

# General Manager Title 750 Somerset Street, New Brunswick, NJ 08901 Company Address and Telephone Number I-16-23 Authorized Signature Date

Stout's Charter Service

## **BID SHEET**

# EAST BRUNSWICK PUBLIC SCHOOLS

# STUDENT PUPIL TRANSPORTATION SERVICES SCHOOL RELATED ACTIVITY

The undersigned hereby submits the following bid(s) to transport pupils on dates provided in accordance with your advertisement, specifications, and route description. If awarded the contract, we agree to be bound to this proposal and the contract documents, as defined in the specifications:

Date	Number of Buses Required	Number of Buses Contractor Will Guarantee	Cost per Bus	Total Cost Per Day
April 24, 2023	5	5	\$2,208.16	\$11,040.80
April 25, 2023	5	5	\$2,206.16	\$11,040.80
May 1, 2023	5	5	\$2,208.16	\$11,040.80
May 2, 2023	5	5	\$2,618.14	\$13,090.70
May 3, 2023	5	5	\$2,208.16	\$11,040.80
Way 3, 2023			Grand Total All	
			Buses:	

Cancellation Due to Non-Covid Reason				
# of Days' Notice Required for Full Refund/No Penalty				
Penalty for Cancellation due to Non-Covid Reason with notice given less than the # of days noted above \$_Full Cost				

In the event that the East Brunswick Public Schools is unable to attend the field trips to the Fairview Lakes YMCA due to the COVID-19 pandemic, the East Brunswick Public School shall so notify the Transportation Provider in writing not later than 10 calendar days prior to the date transportation is required. Within 30 days of such notification, the Transportation Provider shall return to the East Brunswick Public Schools any and all payments made by the East Brunswick Public Schools. Thereafter, neither the East Brunswick Public Schools nor the Transportation Provider shall have any further liability under this Agreement.

Tim Stout		
Authorized Bidder's Name	(Print or	Туре)

President		
Title 20 Irven Street, Trenton NJ, 08638	609-883-8891	
Company Address and Telephone Number		
		0 7 2023
Authorized Signature		Date